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(1) BRIk B (B[] 2 2R R
TONES KRR 4Em E]: 10 1S, 50 uS. 100 uS. 200 1S, 500 uS;
T Ak EEFY: 05mS. 1mS. 5mS. 10mS. 20mS. 25mS;
Ts RIS A]: 10 mS. 50 mS. 100 mS. 300 mS. 500 mS;
Ts il S E A HW): 05S. 1S, 2S. 3S. 5S. 10S. 30S. 60S;
T ] Amin. 2min. 5min. 10min. 20min. 30min. 60min;
(2) FkyfiE{EPo: = 60 Vpp;
(3) kA 1 MHz;
(4) 7AWk = 0.5 MPa;
(5) AR A RIEAALHER: < 30 mA.
(6) TN ERE: < 1509,
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10
1%y, ®AK0%: F£10Vpp, M1, HE1045.
Fkp O . 1 MHz; JE6E45%, &8 HE N
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Wz 5%, 1, K05 .
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(1) PR Bkt B R ] S 80 R AG IR 2-3R6FT7R .
3= 2 TEERCPFEREIEFESE

HARE(LS) 10 50 100 200 500
SEERAE( 1 S)

=3 T KA EERAHIERSE
HFR{E(mMS) 0.5 1 5 10 20 25
SEIG(E (MS)

=4 T3 REIFEREIERS 2
H A# 8. (mS) 10 50 100 300 500
SEI0{E (mS)

=5 T4 RIMESEAMHICRESE
HARE(S) 0.5 1 2 3 5 10 30 60
SEIGAE(S)

#z 6 T 2RRHEEIERESE
HAnME 1 2 5 10 20 30 60
SIGME
(min)
(2) HABFEFRMRan=R 7~
=7 BEthsHIERESE
ik e A SRNY B U {5 75 s R | FAHLERE
HAnE
= 60 Vpp 1 MHz = 0.5 MPa < 30 mA < 150¢g
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